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Theta = 0.00 10.00 20.00 28.50 30.00 40,00 50.00 60.00 F0.00 BO.OO 89.00 degrees
Theta = 0.00 0.17 0.35 0.50 0.52 o.70 0.87 1.05 L1z 122 Lan 1.55 radians
Tan{Theta}= 0.00 18 0.36 0.54 0.58 083 119 1.73 2.39 2.75 5.67 57.29
% - feet
[} 3.00 300 .00 3.00 300 3.00 0 3.00 3.00 3.00 3.00
1 2.99 3.17 3.36 3.53 357 3.83 4,17 4.70 5.34 569 37.35
2 2.97 3.3 a7 4.05 4.12 4.63 532 6.35 7.58 828 25.81
3 2.54 3.46 .02 4.55 4.65 541 6.42 7.84 993 1070 -31.61
4 2.89 3.59 4,33 5.03 516 6.17 2.50 9.48 1170 12.03 -134.91
5 2.83 3.70 4.62 549 5.65 6,50 B.54 10.96 13.78 1524 -284.10
] 2.75 3.80 4.90 5.493 613 7.61 9.54 12.32 15.63 17.33 -479.18
7 2.66 ER: 5.16 638 .56 B.2% 10.51 13.75 1741 19.31 -720.13
& 2.55 3.95 5.41 6.78 7.02 B.95 11,45 15.07 15.098 21.16 -1006,57
] 2.43 4.00 5.63 7.15 7.44 9.59 12.38 16.32 20.68 22.89 -1339.70
10 2.30 4.04 5.85 7.52 7.84 10.20 13.23 17.53 22.18 243.50 -1718.31
1 215 4.07 B.0% 758 8.22 10.7% 14.08 18.67 2358 25,99 -2142.80
12 199 4.08 6.23 B21 8.59 11.35 14.87 19.76 24,89 27.37 -2613.18
13 1.82 4.07 6.39 853 853 1180 15.63 20,79 26.11 28,62 -3129.44
14 1.63 4.08 6.54 883 426 12.41 16.37 .77 27.23 29.76 -3691.59
15 1.43 .02 6.68 g.11 .56 12.01 17.07 22,89 28.26 3077 -4299.62
15 1.21 .08 .80 937 .85 13.38 17.74 23.58 25.20 31.67 ~4953.53
17 0,98 3.92 £.90 962 10,12 13.82 18,37 24.37 30,04 32.44 +5653.33
18 0.74 3.84 .93 a.64 10,37 14.25 1B8.97 2512 30.79 3110 -6399.01
19 0.48 335 706 1008 10,61 14.64 19.54 25.82 3144 33.64 -7190.58
20 0.20 3.54 711 1024 10.82 15.02 20.07 26.46 3r01 34,05 -8028.03
21 -0.08 353 7.15 1041 11.02 15.37 20.57 27.05 32.47 34.35 ~B8911.37
22 -0.38 3.39 78 10.57 11.1% 15.70 21.03 27,58 32.85 34.53 -9840.59
23 -0.70 324 7.19 10.70 11.35 16.00 21.496 2805 33.13 34.59 -10815.69
24 -1.03 3.08 7.18 10.82 11.49 16.28 21.86 2847 3332 34.53 -11836.68
25 <137 2.90 715 10.92 11.61 16.54 22.22 28.83 3342 34.35 -12903,55
26 *1.72 2.71 1 11.00 11.71 16.77 22,55 29.14 3342 34,05 -14016.31
27 -2.09 2.51 .08 11.06 11.60 16.97 22,85 29.39 33.32 33.63 «15174.95
28 -2.48 2.29 6.99 1111 11.86 17.18 2311 29.58 33.14 330 ~16379.47
29 -2.88 2.05 5.90 11.14 11.91 17.32 23.34 2037
i 30 -3.29 181 6.80 11.15 11.94 17,46 23.53 29,61
31 -3.72 1.54 6.68 11.14 11.94 17.57 2369 29.83
32 -4.16 136 6.54 11.11 11.93 17.66 2382 29.80 E
33 4.61 0.97 6.39 11.08 11.91 12.72 2301 29.72 30.81 28.61 -62.21 -230%0.35
34 -5.08 0.67 8.23 11.00 11.86 17.76 2397 29.58 30.06 27.36 -72.07 =24570.18
35 *5,56 035 B.04 1092 11.79 17.78 23.99 29.38 29.22 25,98 -82.39 -26095.90
36 -6.06 .o 5.85 10.82 11.71 1777 21.58 2013 28.25 24.49 -93.17 =27667.50
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